A WO N PR

H

}ﬁlzll:l%j:—gﬁﬁ 0000000000000 000 00000 2

\/{J’_IETI%EA ® 0000000000000 00000 000 3

ﬁ%%gfﬁ ..Q....O..............4

BRAEHL S eecececcccccccccccccse |



1. = ik

W ZEYE HiFi DAC B4 X10

TIOCM1794A St HiFi 5K / 58 TI SREESH NE5534 /R S REEES

(HEB / wJikfg XMOS $=RmE / =ikl HiFi BAMR

4 x M2.5x6 @i X10-PWR

\
= '-,A:u:v;.. e L

i‘%
'.j
|

i
I

4 X M2.5x20+6
RN
X10-DAC
4 X M2.5x20+6
paEmge
X10-128

4 X M2.5x20
wamegE

LR WEIRER
(R BEHEIK
FR)



2. RFIEHE
X10-A Kit

® 1xX10-DAC ( Fgixig8zz)

® 1xX10-PWR ( Egix#gzz , 2P HEiREL )

X10-B Kit

® 1 x X20-DAC ( Egjx%i842 )
® 1xX10-I12S (Fgixigsz , USB &zl )

® 1 xX10-PWR ( Bitixtgsz , 2P BiR%: )

X10-C Kit

® 1 xX20-DAC ( Egixtge )
® 1xXI10-12S (EciX#Rez , USB iEzk )
® 1xX10-PWR ( Ecixigez , 2P HBiREL )

® 1 xX10-RTR 35[ERS ( BCixEEIREEL )

3. 351



LD £

O TR BT (FBIEER)

- S )

EBM2.5x6 mmiBL it I RSIR
BEREA

© 1)$5X10-12SHIERBIRTE , 2
BRAM2.5x20+6 MMiAtFITE
2)iFTHiE , GHMRETERME

I, e L e
» e T i \
N - -~
. ”2'.—-..'“ ““Q
o lan Ly '.\-l

Q BEIRLMX10-PWRIREZIIHER
SIME - 3182 (5V, 4% ) f5IM3
(=i, | )

© FriFEfH

a4 : 8 x M2.5%x20+6mm
4 x M2.5x20mm
8% : 8 x M2.5x6mm
1 x RPIEEL
1 x USBi%EEL

Q BM2.5X20mmBEATRFEE

T8

@ 1)¥BDACIRIEAX10-12SH405HEL |

AREREM2.5x20+ 6 mmiEiFiTs
2)JEX10-PWRIREIEHHADACIRAI12
0, AEEAM2.5x6mmiBLiTE
3)iHEAUSBEREL

O ==!!

BREZERRIEHREX10-PWRIR

1) BREZE LAFRA KO ERITFHF

( ImBS ST RESSIT R | WRISTREIEIATF ) .

2) WIERNIMFEEBANRZS.

3) FREHBANBEZMNRLE, RiHES

g@ﬁ}k}ﬁﬁ%*?ﬁtﬂ  iBRENFE
=,

W W e e

BH&-83e& : 15VAC 0.55A
WEG-HE : 15VAC 0.55A
t=E-156 : 6VAC 0.5A
- : 6VAC 2.58A



© BiEssW REZES @ wrTaEmEzE

s=1! 1 ZX10-PWRIRHIZ 48 =
ﬁiﬂ@&fﬁﬁ)\% - ;g)g;ﬁﬁij HRA93S i e e BB IR IEFR IR =
110V : THMABESHH110~120VAC i R P

220V : S8 NE 454220~ 230VAC 2) JAX10-PWRIREIHE RS MR B L IERERE
1) EREBEESEAXZENEEREEZ
Bi , ISREEEEEEIRHNBE,

2) EiNinEE |, SR TERIREEHER )R
TEAXEIERMAE,

3) IEMRIRACIANBEEFEAX

1) $5X10-HPAMPHRE1EHE\DACHREY

. 12883k, RRAM2.5x30mmiFITER

® gﬁﬁaﬁ A ® ) izx10 PWRIREIEEAX10-HPAMP
= = 9 L 3 [

1) AX10-PWR HiE F125HT RIEL, B AR, RAIRsexatm ot

2) WL RRRAX10-HPAMPIRAY 3) 5DACIR RIS H EALEIRFIX10-H

12%HEk

PAMPIR

4) ZEEL AX10-PWRIREEFIHE K
SIEI-SI#2 (5V, 1% ) FISIH3 (&l
. B

5) HAllen Key M1.5%3& 52 hEHH

— — —

TA awvan-oix » .
Fuoaydng
a

4.5 MFE

\/OLUmIO audio player



Volumio (it Z<: 2.368)

RZae X10-12S (ERT X10 EREHA)

7E5E "PLAYBACK OPTIONS" 3288 ,¥TFF “12S DAC” 1t "DAC Model” i "R-PI

DAC", REERFHHk.

vOoLUMIO ) Q M MY MUSIC

Playback Options

APPEARANCE
) Audio Output

worc [ 0
PLUGINS

- SLEEP

SHUTDOWN

NETWORK

SYSTEM

J7 COMMON.TAB BROWSE (&) COMMON-TAB PLAYBACK

X10-12S %% (ERF X10 #xEHB)
R IBHUEIN 38R, X “12S DAC" FERE "#HiHigE" TR “xCORE-AUDIO

Hi-Res 2 " . 8 B & B #H# = B .



VOoLumMmlio MY MUSIC

Playback Options
A . R APPEARANCE
#) Audio Output

— . =  NETWORK
Qutput Device xCORE-AUDIO Hi-Res 2 ~ ‘

SYSTEM

12S DAC
PLUGINS

[ o]
- ALARM

SLEEP

- = Playback Options
e SHUTDOWN

DSD Playback Mode | DSD Direct = |
b= \—‘ BN VOLUMIO SHOP

Jd Browse o Playback

Moode HEMIEH A (MRA: 3.1)

K& X10-12S (ERT X10 EREHA)
RFIRE "RE" X8 BR "RERE" ™ "B ARIEE "R2SEMmRE" T

A9 “DDDAC1794 NOS" , AR "IRE" HEMZ.



Audio Configuration

System Audio
125 audio device DDDAC1794 NOS

ALSA volume (%)

Rotary encoder m

Crossfeed DSP disabled

Auto-shuffle m

Browse Library Playback

X10-125 B2 (iEMAF X10 iREH B)
REpE RE 28, £ RERE THE 'MPD', AENEER SHRE" T

"USB B R&E" O RARBBRET "NAR" AEHEBD.

MPD Configuration

MPD configuration to defaults
MPD service
Settings | APPLY

Audio device USB audio device

Volume control Software

Resampling disabled

Sample rate converter SoX: Very High Quality

Browse Playback



